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; 100kN/M%#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z# %% — - ~ — — |3mZE#BZ B - ~ — — —
ZzhLs 1.00 | 0.00 ~ 623 7828 | =S | 0.00 ~ 0.00)| 1.59 8.04 ZzhLs 1.00 | 5.00 ~ 7.80 7828 | #nS | 6.00 ~ 7.80 | 1.69 8.04
2 100kN/MZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — —
zhLs 1.00 | 0.00 ~ 733 93.45 | L | 0oo ~ 000|171 8.66 ZzhLs 1.00 | 5.00 ~ 9.50 93.45 | =hS | 6.00 ~ 960 | 1.71 8.66
3 100kN/MZ#8% % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z# %% — - ~ — — |3mZE#BZ B - ~ — — —
zhLs 1.00 | 000 ~ 692 87.62 | #nhst | ooo ~ 000|170 8.62 ZzhLs 1.00 | 5.00 ~ 8.60 87.62 | #hs | 5,00 ~ 860 )| 1.70 8.62
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Fhs 1.00| 232 ~ 1010 100.00 | TS | 000 ~ 1010|271 13.69 Fhs 1.00|5.00 ~ 1053 100.00 | TN | 5,00 ~ 2007 |2.71 13.69
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. 100kN/mM%#8Z5| 1.00 | 0.00 ~ 1.91 129.40 |3mEBAD| — ~ — — — | 100kN/mi%# 825 | 1.00 | 1090 ~ 17.74| 129.40 |3m&EBZ5 - ~ — — —
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zhLs 1.00 | 0.00 ~ 546 68.13 | TN | 000 ~ 0.00)| 1.69 8563 ZzhLs 1.00 | 5.00 ~ 6.00 6813 | EnLs | 6,00 ~ 6.00 | 1.69 8563
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